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HISTORY
( Major )

Paper : 5-1
( India under the East India Company )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer in one word or in one sentence : 1x7=7
9Bl *= 31 9B TS S
fa) Who was the successor of Alivardi Khan,

the Nawab of Bengal?

TR TWR e R TeaEeR @
w1fee 2

(b) Which Nawab of Bengal shifted the
capital from Murshidabad to Moonghyr?

YRR #f71 Yxeaatal e TR R e
TR (FI =R 2
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(2)

(c) During which Governor-General’s
administration  were the Zaminders
relieved from their police duties and in
their place police administration was
placed in the hands of British officials?

e SRTE- (ST PRGNS SRS
(S SCECE RG] <{febd GE =1 S
[ 51%S fers 2P JibacEed Tree fAcfée
41 2fee ?

(d) Who was the ruler of Punjub during the
period of the 2nd Anglo-Sikh War?
RS B9-FY a3 TS AGR AP @
wfRe 2

(e) Why did the Khonds Revolt against the
British in 18467
Sr8% B e Joes Rewm oy Roa=
fifee 2

() Name the tribes of Chota Nagpur who
revolted against the British in 1831.
Yoo 5 3fed s Rz 31 @O
TEINSCOR T {3 wHifez 2

(g9 Who was Mangal Pandey?

TeFe Y (T A 2

2. Answer briefly : 2x4=8
SefEpe; Taq fra -

(a) Mention the year and the parties
between whom the 3rd Battle of
Panipath was fought.

AR PO I& FA I V&S A (T 570
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(b)

()

(£320)

Write any two characters of the
Ryotwari Settlement.

IORE WA W @A ol BRG /8
fora

Mention any two results of the 4th
Anglo-Mysore War.

Todl BR1-TEE g R G 701 Tl fors |

(d) Write two significances of the Treaty of
Salbai, 1782.
Sauy B BoiR B o1 CafiEs for |
3. Write short notes on any three of the
following : 5x3=15
oo R @Il oo oo 5 (Gt o
(a) Political condition of Bengal on the eve

(b)

(c)

(@)

(e)
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of the Battle of Plassey

B JAT AR RS THCTE
IEASE G

The Treaty of Allahabad, 1765

Save 54 GERNT B

The Treaty of Bassein, 1802

Svro} 59 R 5

Maharaja Ranjit Singh

TRETE G B

Doctrine of Lapse

wefdcene NS
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()

4. Answer any three of the following : 10x3=30
e R e fofiot e Tes st

(a) What was the impact of Dual System of
administration in Bengal?
THOPS (S MNP I9EA fer & ifRe 2

(b)) What was the Subsidiary Alliance? How
far did the expansion of British Empire
in India become possible through this

system?
Foaa e [ owfkEe @@ At ane
SEee ibe e [RER P9 59 el 2

(c) What were the causes of the downfall of
the Marathas?
TRITFI[ 7o FRPHZ & e ?

(d) How did the Revenue Policy of the
British led to the rural indebtedness in

India?
JwreR qEEeE [ SHede A
Yoo e e 2

(e What do you wunderstand by
commercialization of agriculture under
the British? What was its impact on
Indian society and economy?

Ifbereea FEe $RT Afderad q & @2
R Foe SR WG WF HAfew & ger
“{fafze1 2

() Discuss the nature and result of the
Mutiny of 1857.

Sreq 59 Rurd gFfs oF Ferwe SEnal
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